N = 361 N = 362 N = 363

361 spheres in a sphere 362 spheres in a sphere 363 spheres in a sphere

radius = 0.118159920816  density = 0.595549378415 Deser radius = 0.118074544675  density = 0.595905520876 Deser radi us 0.117971973629  density = 0.595995746450 Sesmr
ratio = 8. 463106551647 contacts = 1027 ratio = 8. 469225968667 contacts = 1036 ratio 8. 476589559693 contacts

364 spheres in a sphere 365 spheres in a sphere 366 spheres in a sphere
radius = 0.117895423793  density = 0.596474974712 58 radius = 0.117794792790  density = 0.596583368694 58 radius 0.117655898649  density = 0.596104226811 DS
ratio = 8482093433548  contacts = 1049 ratio = 8489339607590  contacts = 1055 ratio = 8 499361370595 contacts = 1054

367 spheres in a sphere 368 spheres in a sphere 369 spheres in a sphere
radius = 0.117567789804  density = 0.596391061445 Deser radius =  0.117496313849  density = 0.596926067080 Deser radius 0.117359143330  density = 0.596454278503 QEsmr
ratio = 8505731048165 contacts = 1029 ratio = 8.510905297720 contacts = 1046 ratio 8. 520852927395 contacts 1063

370 spheres in a sphere 371 spheres in a sphere 372 spheres in a sphere
radius =  0.117268078317  density = 0.596679544094 radius = 0.117176099130  density = 0.596885484459 LEsm radius 0.117088638479  density = 0.597155185442 DEsmn
ratio = 8527469831106  contacts = 1052 ratio = 8534163600126  contacts = 1051 ratio 8540538287832  contacts = 1046




